C D cLoun.Tuin M2SUBA.1

Subtraction (1000s)

Instructions: Subtract the numbers below.

8 8 7 9 5 6 2
-1 4 5 6 - 4 7 2
2 7 5 8 3 3 4
- 2 2 31 -1 3 2
4 8 7 5 3 7 5
- 2 2 2 5 - Y
2 8 4 7 2 4 6
— 1 2 5 4 -1 2 3
7 7 4 6 6 6 4
- 6 9 3 5 -1 3 3
4 7 2 8 4 2 1




CLOUD TUITI¢ M2SUB4 .1

4 7 8 3 52 9 2 4 9
4 4 3 - 2 5 4 5 -1 9 9
4 7 7 2 3 9 8 8 7 4
3 2 5 -1 3 3 3 - 4 3 5
4 3 5 3 2 9 7 4 8 6
1 2 4 -3 1 2 4 - 3 4 5
9 8 7 9 9 8 7 2 3 9
2 3 5 - 2 3 5 3 -1 3 8
7 7 8 8 7 6 6 6 3 8
2 3 5 - 6 6 2 3 Sy 3
8 7 5 4 5 9 8 3 7 6
1 3 6 - 2 0 6 8 - 3 2 4
4 3 9 8 4 8 7 9 0 8




C D cLoun.Tuin M2SUBA.2

Subtraction (1000s)

Instructions: Subtract the numbers below.

7 6 9 8 3 9 8 6
- 56 3 7 - 36 2 8
7 T 5 7 8 4
-~ 4 6 3 1 — 4 3 4 1
4 4 0 8 1 4 4 0
- 300 2 - 10 3 8
7 7 3 7 9 9 7 8
- 26 3 6 — 4 4 6 5
3 6 5 8 3 7 9 8
- 3 3 5 4 — 2 4 4 2
5 8 4 7 5 6 8 3




CLOUD TUITI¢ M2SUB4.2

5 7 8 5 7 4 8 5S 7 4 6
2 5 3 -1 3 5 4 -1 2 3 5
4 6 6 5 5 5 5 8 9 6 3
1 6 5 - 2 4 6 3 - 2 4 5 6
6 8 7 5 7 4 8 4 7 3 8
3 3 3 - 2 3 7 4 - 2 4 6 3
5 7 8 9 4 6 3 6 6 6 4
2 4 5 - 5 7 3 8 - 2 3 7 4
5 6 4 5 7 8 3 5 7 3 8
3 5 4 -3 2 1 5 -1 3 2 4
7 7 7 3 7 4 7 5 8 7 8
3 5 4 -1 3 6 2 - 2 4 3 7
4 5 6 5 1 8 8 9 0 9 8
3 3 40 -1 0 2 - 3 4 3 5
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